
gu/kflnsfaf6 z}Ifl0fs cg'bfg kfpg] ;fd'bflos ljBfnox?sf] laj/0f 

qm= ;+= 

jf8{ 

g+= 
ljBfno ;"rs /sd hDdf 

1 

! 

;KtsGof gfN;' 
 lg=df=lj= tx ;~rfng ePsf] k|f=lj=b/jGbL $ / 

lg=df=lj  b/jGbL Pp6f klg gePsf]   
13000 156000 

2 ss{nfb]jL cf=lj= kfyf}{s 

 lg=df=lj tx ;~rfng ePsf] k|f=lj=b/jGbL % / 

lg=df=lj b/jGbL Pp6f klg gePsf]   
11000 132000 

3 ltglkKn] cf=lj= tn'jf 

 lg=df=lj tx ;~rfng ePsf] k|f=lj=b/jGbL % / 

lg=df=lj b/jGbL Pp6f klg gePsf]   
11000 132000 

4 hgr]tg df=lj= ef]n]{ 

df=lj=tx sIff !) ;Dd ;~rfng ePsf] t/ ! dfq 

df=lj=b/jGbL ePsf]  
16000 192000 

hDdf   612000 

5 

@ 

/Qmdfnf cf=lj= hf]/wf/f 

 lg=df=lj tx ;~rfng ePsf] k|f=lj=b/jGbL # /  

lg=df=lj b/jGbL Pp6f klg gePsf]   
13000 156000 

6 sflnsf cf= lj=r'xfg5fk 

 lg=df=lj tx ;~rfng ePsf] k|f=lj=b/jGbL $ / 

lg=df=lj b/jGbL Pp6f klg gePsf]   
13000 156000 

7 s8]gL df=lj=s8]gL 
df=lj=tx sIff !) ;Dd ;~rfng ePsf] t/ ! dfq 

df=lj=b/jGbL ePsf]  
16000 192000 

hDdf 504000 

8 # jfnljsf; cf=lj= 

k|fylds txsf] sIff jfnd}qL?kdf ;~rfng 

u/]sf] 
11000 132000 

9 $ zf/bf cf=lj= rfv'{ 

k|fylds txsf] sIff ;"rgf k|ljlwd}qL ?kdf 

Joj:yfkg u/]sf] 
15000 180000 

10 % /fHonIdL df=lj= 

df=lj=tx sIff !) ;Dd ;~rfng ePsf] t/ @ 

dfq df=lj= b/jGbL ePsf]  
14000 168000 

11 

^ 

hGt/vfgL df=lj= 

df=lj= tx ;~rfng ePsf] t/ Pp6f klg df=lj= 

b/jGbL gePsf] 
19000 228000 

12 gjHof]lt df=lj=d}bfg] 

df=lj=tx sIff !) ;~rfng ePsf] # hgfdfq 

df=lj=b/jGbL /x]sf]  
13000 156000 

hDdf 384000 

13 & lju'6f/ df=lj= lju'6f/ 
lghL ;|f]taf6 k|fljlws wf/ ;~rfng u/]sf]  27000 324000 

14 * rDkfb]jL df=lj=;Nn]/L 

df=lj=tx sIff !) ;Dd ;~rfng ePsf] t/ ! 

dfq df=lj=b/jGbL ePsf]  
16000 192000 

15 ( r~rnf cf=lj= vf]bDkf 
k|fylds txsf] sIff afnd}qL ?kdf Joj:yfkg 

u/]sf] 
11000 132000 

16 

!) 

k~rfjtL cf=lj= cfDhfgL 

k|fylds txsf] sIff afnd}qL ?kdf Joj:yfkg 

u/]sf] 
11000 132000 

17 sflnsf df=lj=?K;] 
utM z}lIfs aif{df df=lj=lzIf0f l;sfO{ cg'bfg 

kfPsf] t/ rfn' aif{df ;f] cg'bfg s6f}l6 ePsf]  
30500 366000 

hDdf 498000 

18 !! hfnkf df=lj= u}/LufFp 

df=lj=tx sIff !) ;Dd ;~rfng ePsf] t/ @ 

dfq df=lj= b/jGbL ePsf]  
14000 168000 

19 12 ;=h=df=lj= cf]vn9'+uf lghL ;|f]taf6 k|fljlws wf/ ;~rfng u/]sf]  Psd":6 206000 

s"n hDdf 3500000 

 


